

# GLOBAL TRADE

# ABOUT US

Company was founded 6 years back where it has been headquartered and since then has been scal- ing new heights with each passing day. The company has set new trends of archite ctural finesse in the contemporary scenario touch- ing the horizons of excel lence. The company is developing projects in different verticals of Trading, Recharge, etc. Crypto get has not only expanded in terms of a number of projects but in terms of the kind of engineering techniques.



#### MISSION & VISION

#### **VISION**

Our vision is to become a globally trusted name in trade-based income systems, transforming lives through innovation, integrity, and inclusive financial empowerment. We envision a future where every member achieves financial freedom by participating in our structured and ethical income-generating plans.

**MISSION** 

Our mission is to empower individuals and communities by providing a transparent, reliable, and rewarding trading income platform. Through structured global and teamlevel income plans, we aim to promote financial independence, foster growth, and offer long-term wealth-building opportunities for everyone, regardless of their background.

## MINIMUM INVESTMENT

RS.
2500/-

## GLOBAL TRADE PLAN TABLE

Plan Name	Rupees	Per Month Income	TDS 10%
First Plan	2500	750/-	75/-
Second Plan	5000	1500/-	150/-
Third Plan	10000	3000/-	300/-
Fourth Plan	20000	6000/-	600/-
Fifth Plan	40000	12000/-	1200/-
Six Plan and Last	80000	24000/-	2400/-

# GLOBAL TRADE PLAN TABLE

Final Income	Month	Total Income	Profit Income	Extra Income
675/-	12	8100/-	5600/-	BONUS
1350/-	12	16200/-	11200/-	BONUS
2700/-	12	32400/-	22400/-	BONUS
5400/-	12	64800/-	44800/-	BONUS
10800/-	12	129600/-	89600/-	BONUS
21800/-	12	261600/-	181600/-	BONUS

# EXTRA INCOME

✓ Direct Income: 10%

✓ Matching Income: 5%



#### REWARD INCOME

SR.	R.TEAM	L.TEAM	REAWARD	STATUS
1.	1 lac	1 lac		pending
2.	5 lac	5 lac		pending
3.	10 lac	10 lac		pending
4.	20 lac	20 lac	DZIRE	pending
5.	50 lac	50 lac		pending



#### WITHDRAWAL INCOME TABLE

Withdrawal Stage	Income	Withdrawal Date
First	1000/-	1 तारीख़ को
Second	2000/-	15 तारीख़ को
Third	3000/-	28 तारीख़ को
Fourth	6000/-	
Fifth	12000/-	
Sixth	24000/-	

#### TERM & CONDITION

✓ MINIMUM INVEST - 2500

✓ MINIMUM WITHD -1000

✓ DEDUCTION TDS - 10%



# THANK YOU

For visit us